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V Semester B. Com.3 Degree Examination, November/December 2017
SMALL BUSINESS AND ECONOMIC DEVELOPMENT
(Fresh and New Syllabus)

Time : 3 Hours | Max. Marks : 80

Instructions : 1) All sub-questions should be answered at one place
oontinuously Quote facts and figures fosupportyour answer.
RReaTs0: DR GUT= w’a’ifm’ Lome 8@ eVFT w0, r A

05— voa’rfga’kao@zﬂoz’g aua’o?fs’éu’m.‘a’)@ma
2) Answer toall Sections should be written in the same answer

book.
DD DI erz_xg’o?f@&oa’c VB0 DTS 2900200,

SECTION - A/ogon— e

1. Answer any ten of the following questions in 2-3 sentences each. (10x2=20)

39N temons e driert 23 YRVY. eugoro.

a) What is small business ?- |
%38 FR$B0 0BT ? N

b) Distinguish between economic growth and economic development. State it.
SR T WP S SOF TP, amﬁ [IYT R0,

c) Define medium enterprise as per MSMED Act.
A2, 23,230, 3.0 (MSMED) 03y ©,00 WG G000 w83 2RaD,

d) State any two requisites of starting a new busmess ‘
BT FETT T,TOPRIDEOD 03RRI 28R 3, ﬁﬂ@:b 390,

e) What is project report ? '
03ReI0 [OO or3Bed 9

f) Whatis business idea ?
R VBT evemood (abdraezpad) QOB ?
@) Expand MUDRA Bank.

MUDRA £3,05° 2508 wdoaoo.

P.T.O.
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h) Mention any two features of Micro-finance.
myﬁ’mm OINF)TOTTR DT vﬁqwr@dgl 3P0,
i) What is creativity ?
LOTAZ WA (D&)JF‘X’D&D% ) DOLITER0 ?
j) State any two sources of innovation. .
30303 IRTYTIe TR BUORT), 3920,

k) Whatis industrial estate ?

§moom BB OTBEI?

) Mention any two schemes of the Government for MSMEs. :
R%.23.3.3,. (MSMEs) noron RGO o3RwTse 0RO odRezsRne) S9X0.

SECTION — B/agnon—w

Answer any three of the following. ) (3x5=1 5).
23650z BT BINOR GUZORD. ‘ e
2. Explain the factors affecting the process of economic deve!opment of a country.

2,00 T3e33 QFERE3R0D Fgodoob sxd SOTENER 08 0BTt DESORD.

. Explain the elements of project formulation.

o3news SuRoNg (:odxawﬁ”)o:b ammosm@ LDO/D.

Write note on ‘Search for a Business ldea’.
gmdcs EVTOOD (sﬁaﬁmemd)d Smbims (search) $oee 8353 LBCAD.

Explain the role of DIC in promottng MSMEs.
e85, §. (MSMES) ¢ JuarsSob, B, ﬁmb%'a oW = wédab D300,

Explain the sources and process of creativity.
Do (FARdng ) oo 3y Bolnds HT0.

SECTION — C/o%n—-¢

Answer any two of the following. (15x2=30)
BINS Wemt TP, LUZO0. |

7.

Discussthe importance of Micro and Small-scale industries in the Indian economy.

L0IT LPFRBRIONY, 58 w33 2 za§ 3roodny TP, T, 133 AD.

Examine the various techniques of project identification.
03RexNORRY, rOTHRIDB03 DR DGRNYR) TOBLOAD.
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9. Explain the role of SIDO, NSIC and SISl in promoting MSMEs.
- ARu. §. (MSMEs) n¢ SRgrScbd, 2@dee(SIDO), 00.:3.3.8 (NSIC) =)
8.9 2705 (SISI) 1Y Bom3=3) D00,

. 10. Discuss the Government measures for the promotion of small-scale industries. N
g §7w0Ene TRPFIron R ZTT0E ZRonYR) 133FR0.

SECTION - D/agen— &

Caselet:
%63 ac@dmaﬁ :

11. Finance is the life blood of every business MSMEs require finance to meet their
- working and fixed capital requirements. India has established many financial
institutions to meet these requirements. They include SFCs, SIDBI, NIESBUD
and MUDRA Bank. These institutions have assisted MSMEs in their prosperity.

Questions: . |

a) State the functions of SIDBI. A ’ 5
~ b) State the principle objectives of MUDRA Bank. 5

c) Exp!am the significance of Micro Finance in India. 5

BEITIRD AJF FSBoONe e, Ae. w8303, (MSMES) nort Somednss m 3
OB TBIENTR), PR Teovord zﬁ&b 81 UG IBrTS), FTR 2;530‘33)
S wsa%bfoo RORNYRY, MOMAE. ) To. .9 (SFCs) aw' (SIDBI),

O S03. 9, AT WE (NIESBUD) %) 3063, (MUDRA) 233,05 193800885,
RR.28.3.8 . (MSMES)NS su © eﬁ@aﬁséﬁobg ABT), S0 ae&d

ST | |

a) A@*w(SIDBI) 13,088 RO Bewo. ' -5
b) S0, (MUDRA) 13,088 Soww TSNP BewO. ' 5
C) §R03TE s8¢ zé% BEITORT TD[NE IO, 5
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V Semester B.Com. 2 Degree Examination, Nov./Dec 2017
ECONOMIC DEVELOPMENT OF INDIA (Repeaters)

Time : 3Hours - | - . . Max. Marks : 80

lnstruct;ons '1) All sub-questions should be answered at one place

continuously. Quote facts and figures to support your
- answer.

OB, vT-ZIren a.oo’e st crva’o’ 2000200, vab’a‘
&30~ wow.@obfm@ wa’o?r%#w Ern YoV T

2) Answer to all Sections shou!d be wrftten in the
same answer book,

R Q&Dﬁ?ﬂ’,” erva’oh’%’b’) &oa’c’ema’d w’ga"aﬁ@
wo’a;’o@

 SECTION - A/:_.)tpézf - o

1. Answer any ten of the following in 2-3 sentences each: | (1 0x2=20)
iﬁﬁmﬁﬁg wesord £§§ 2-3 mﬁsﬁ@q, SUBOR0. '
a) Give the meaning of developing economy.
ezp%aééeo eaﬁra&d@o& STF R0,

- b) Mention two features of developed economy.
wzpda I3, 5‘063 ezdda oa’samfab RO,

¢) Define GDP.
GDP @, 8RR0.

d) Calculate NNP when GNP = T 15, 650 cr. and deprecnatron X 470 crs.
B =T 15,650 Boees m?o R3EP =T 470 Bk QRN T D & (NNP)
- BORGBOWD.

e} Define primary sector.
TR FNT O w85, ERR0.
f) What is life expectancy ?
2D ORVT, 0TS ?
- | - P.T.O.
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g} Expand PQLL
PQLI F0% w80000.
h) What is capital market ?
oW ekl 20T 2.

i) Give the meaning of GST.
. GST @& 3pa0.
j) Mention any two causes for declining death rate in india.
ERTIRE) BoTED 9&3@ alo) a@aﬁ»&)ﬁm@oamd& adabsadsaﬁ#ab dda.raa,m

k) Give the meaning of mutual funds
and-;b':? QONY WpF 8RRO.

) Who is the present Govemor of RBI ?
RBIZ 368 RS o® oo 7
SECTION — B/ogen - ©
Answer any three of the following : ~ . (3x5=15)
NS Bewor Rwedd *’%ﬁ@ﬁ UZORD : | '

2.- Explain the structure of the Indian economy
A e ezﬁraﬁ aﬁoda R, draadﬁa‘b DROLO,

3. Explain the methods of calculating national ‘iricome.
- Tody, 008 ROTRET 0T TIBRT AOBNTSY, HRIOXD.
4, Explain the determinants of density of population.
HRWOBEONR, DR ORI oBrdsy DBONO.
5. Exp!ain the economic reforms introduced since 1991 in Indié ’

P03RY, 19913 3023 01 303 Slaly m@dﬁgﬁdab afbdf)?oe

6. Expiam the features of Indian Money Market.
LTI BEITORO IO oﬁg@ri@é‘&z @5&0&
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' SECTION ~ C/agon . — 8
Answer any two of the following L | - {2%x15=30)

@#hd e addig SUZORD

- 7. Discuss the main characteristics of Indnan Economy
40 eprEaEod Fmiosd ogendR wWirao.

8. Explain the various concepts of national income.
Ty 0030 RORNIT s)acs *‘aﬁaﬁﬁ#& QWORD.

9. Discuss the causes and evil effects of the rapid growth of population in India.
EROIRE, 3633 wIRosy, LIFBedrt 50 o) CoROFTNTR) IR0,
10. Explain the functions of Reserve Bank of India. ’
EPTSe0D DRTE 2,08 TDOF TR, SNIORD.

'SECTION — D/seprt — @

~ Case-let: . o (1x15=15)

11 2007-2012 was the penod of eIeventh fwe year plan Its main objectlve was
speedy and inclusive growth. The plan also emphasized growth in the
infrastructure sector and intended to attain socio-economic transformation :

Questions : | , _
a) Define economic planning. ~ | » 2
b) Define inclusive growth. o g 3
c) State the 0bjectives of XI plan. : | ' 10
8 DB : '

2007 20123 =35 S&aodéofo 2., o3nexSond eﬁmr\d fadd m en3es
363 303 weioon Msﬁﬁmn& B3 O3ness B FRBORFNY ks C)ﬁ m
3o waeb OIS~ es@rﬁ *’adeiréodxb RS 10 B0k,

ayich | EEE
a) @B o3 T, FRR0. o | 2
b) wdieor Wdaedriodm) m:oamb : 3

¢) BIRETE 3easSod mcsesmb sor0. - 10
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_ 'R'eg. No.

V Semester B.Com. 3 Examlnaﬂon, _Nov.IDec_. 2017
GOODS AND SERVICES TAX -1

(Paper — 1) (Regular)
Time : 3 Hours | Max. Marks : 80

Instructions: 1) Anéwerall the Sections according tointernal choice.
2) Question under Section ‘D’ is compulsory.

SECTION-A

1. Answer any tenof the following: ‘ | (10x2=20)
a) Whatis an indirecttax? | |
b) What is cascading effect ?
c) What is address of delivery ? |
d) Whatis _thé threshotd limit of exemptiOh ?
e) Expand: . | R
) LGST.
i) UT.G.S.T.

f) Define goods in GST Act.
g) What do you mean by services ?
h) Whét is a taxable event in GST ?
i) What do mean by appointed day ?
| j) What is registration ? |
k) What is principle of equity in G.S.T.?

) What is surrender of registration ?

PT.O.
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SECTION-B
Answer any three of the following : o (3x5=15)
2. Whatis .G.S.T.? Explam the features of l. G S T
3. State the commodities kept outside the prevnew of G.S.T. Act and why ?
‘4. Write short notes on : |
a) Actionable claim
b) Assessment of G.S.T.
5. What is composition scheme ? Give the G. S.T. Rules of oomposrtlon scheme.
6. Who are the out of scope suppliers in G.S.T. ? |
SECTION~-C |
Answer any two of the following: = - (2x15=30)
7. Explain the principles of G.S.T. .
8. What are the problems of mdrrect taxes ? Explam the need for introduction
of G.S.T. A
9. Wirite short notes on any three :
~ a) Black listed dealer
b) Cancellation of registration
c¢) Casual dealer
~d) Non-resident supplier.
10. Ef(plain the exempted supplies under G.S.T. Act.
SECTION-D
Case study compulsory question D | ~ (1x15=15)
11. M/s Anna Rao is a new dealer and he wants to register his name under GST

Authorities. You are requested to suggest him the exact procedure to get
registration certificate. -
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1. 3T sgg emgom.: - : | | (10x2=20)
a) TheEIoR a0 ? |
b) 3orine A3ed Tomadh oBded ?
C) BRWTSI PR 0TBe> ? '.
d) R0 23 e Fora DoctrEaD Fuow £03 R0TTE ?
€) DFo% B0 ! | |
i) .23,
i) oo, 83,22, 0. 83

1) RaX.E FRG, A0S T, 8eR0.

Q) Rez3neb QomseRy ? |

h) R 358 Bem BorcE), 20 DERRITE P IR ?

|) ‘VOBRAT O’ 0TTER ? |

j) Speodes wodder?

k) Rog> 38 Reaw orioddd, 00 @) Fod 22, worded ?

) Sreorssdod L@t 2ot ? |

LA S

SNSIYY, Berorwese, tugono: | |  (@x5=15)
2. Roo3nss Ao s Aea SOTt 0T 7 W) S0 VBFARTR) DTORD.

3. Rk R Beaw O Q0B BRONBL, HoRiEh oY Ry of ok
RoONBONS? |
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4. &30 L8 B0N00
a) 3o grRegrE s B8y B
b) o8 &) Feax Sortod 838 dgoeT.

5. ﬁooiraem 3on q,m Ve ntel ol :doo&raezsm q.dﬁosx) 23, 0%, 83,0 aabdon’ei&
DTORD.

6. Roeo Sy Bewo rs’aﬁobqod BRCNBOL FRGFCICTS 03RT> ?
o _ :bz,mi -3

Bewors édd#t SO0 : : o R (2x15=30) .

7. RO% R Feew Sorton 337w HFORL. | |

8. e B0 Btr vy 7 Ho i R JOr T orsRO s By 0RO

9. et m:ﬁ* 85568 28000 :
a) BR), WeIoDOTRI TR0
b) Sneoritdon) By BRROFRD
C) BB RT0
d) TR PG BTTT,

10. Ro8d 02 Reaw 3o @Y, DO TRAT Cole} ﬁmddab &)dom
| m,mi a3 |
¥ B ok B oR: | (1x15=15)

11. aSalam mm‘eﬁ&udr%mnmnds edda@a&gaﬁdddoa B8 R0,
meomowﬁwmncs :

a&gﬁ R e | e, T o teg e ROFR, gmﬁ#;sgtmw&o._ |
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Reg. No.

V Semester B.Com. 2/B.Com.3 Exaniination, Nov.lDéc. 2017
INDIAN FINANCIAL MARKETS ~ | |
(Regular and Repeaters)

Time:3Hours -  Max. Marks : 80

Instruction : 1) Answer allthe questions subject to choices.
Il) Question No. 11is compulsory (Case study).

SECTION-A

1. Answerany ten of the following questions :
a) State any two components of financial system.
b) What is call money ?
¢) State two characteristics of mutual funds.
d) Name two regulatory authorities of financial system.
e) Who are tarawaniwala’s? |
f) Name two private sector mutual fund institutions.
g) Define stock exchange.
h) What do you understand by new issue market ?
i) What is certificate of deposit ? A
i) State two objectives of financial system.
k) Whois bull ? |
I) What is open ended scheme in mutual funds ? (10x2=20)

SECTION-B
Answer any three of the following questions :
2. Discuss the various challenges faced by Indian financial system.

3. Who is share broker ? What are the characteristics ?
' P.T.0.




4,

5.

6.
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Expiain the structure of financial market.
Who is a speculator ? Explain the different types of speculators.

Describe the impact of growth of mutual funds on the economy. ~ (3x5=15)

SECTION—C

Answer any two of the following questions :

7.
8.
9.

10.

11.

What is money market ? Explain the featufes and objectives.

Explain the various mutual funds schemes.

Explain the types of dealings in stock exchanges of Indié.

What is primary market ? State the advantages and the reasons for the poor
performance of pnmary market. ' | (2x15=30)

SECTION-D

Compulsory question (case study):

Vinod, Rajeshwari are the computer engineers. Kiran is a M.B.A. graduate. All
the three would like to start a company to manufacture computer chips. They
are in need of capital. They together have 50 lakhs which they need for buying
fixed assets. They need working caprtal of Rs.10 lakhs and need another
10 lakhs for having fixed assets. '

Questions:
1) What instruments a company should use to raise working capital ?
2} Which instrument, according to you is the best for raising working capltal ?

3) Howto obtam another 10 lakhs capital for the purchase of fixed assets ?
(1x15=15)




SRR RenE - © 23528/F 410/36531/E 310

1.

3B R

RResme0 ;1) 0808 SR a.s6sl e JHTEN vgo%0
) gZ-11 smgateanna

SR _-Ae

INIIneS), iemoss B WBReR wugoR0:

a) TrovoRd .-7’%53‘%033 TR e30BNTS) 800,

b) 883ts 20307

C) WORT QN TR VFLHINT), WO,

d) BeazoRd FFFOWR), ORI TR ROFMFR) BROD.
e) SVTITVESTOONR o ?

- f) SIOHDRONY FDTITTY, BRBNTORN TR ST9RN FOFNTS), BROKD.

g) Bech DRTD BeOBTH T8, Ve,

h) @3 3edd VENE m&&g} QOB ?

i) Bessed BRReTI, 0BT 9

J) Bea5oRd FTHo TR VTIEBIFE) w3000,

K) ‘208 038 03580 2 ' :

1) OS8R BB 308 RPORE o3pens 20TV (10x2=20)

TR - W

SN 3T AT BN LUZORD -

2.
3.

4,

O3Eeh BrsERo FRRO ST RRF ), BTN DBORD.
BeTH TP 0w3S oIRTh 7 BB BRSO

BromoR> BRSoBED> TEaDRy FOrD.

Rm, 0 CARTh 9 DG IR0 BT, TIOTR), HBOR0.

SO TR0 e HHS DO LIRRCL FpRa, HRoR0. (3x6=15)
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g - F

89N YINVY, em 20, sugono:

7.

8.

9.

10.

- 1M,

BT RRTBE, Domitesd 7 &0 UBLNIRD, TR emcggeﬁrf::lagt DEIOXD,
TOXT NS DO CRRE%INTRY D[ORD.
LT3 BeT) DR Beomndd) S@anes DG SeSod d}mm@a& QTORD.

R P0T BRTTES 0B 7 TBPRT TIRTBEIOD eBROBRD TN L 39
TOODF VT SRELD QTN FTLNT) DTORD. (2x15=30)

Nygon -

sEoh TB ([Ioko DFess) :

DRRez, To2deB O L[ BogRLIT° taoﬁacmo*ﬁvamd 30toMBA "’d&)ez;ﬁdasanmd
BT Bed n’mﬁ‘obogd mn’#ab Cleviplorrbrn qmm agdoz:wz:?eﬁoamd @aﬁoﬁ
WolzY Wemnes, B0 uw 50 o3 wodaa%}&z:b xsd 53 aJOcmzjeéoamd
ORNER), Tedoden 93R,10 o8 kd woaimv} dm&q}dd msri 10 &8, cb@odwd

: wodm# 2IeTONG.

Tgd:
1) ROV weBTY Ao &Ae0 somom o3 BeRgaD —oddﬁ%*ab
evTodeenTiesd 9

2) a1 200 Y0 RIS 0B B4R 8308 BT WFS AR ?

3) 10 &%, 48 20Bm8 BecirERY e aIRE HFIREI, TomBICID EVmodpentled?
(1x15=15)
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| V Semester B.Com.2/B.Com.3 Degree Examination, Nov./Dec. 2017
COMPUTER APPLICATIONS IN BUSINESS
| (Paper — IV) (Regular and Repeater)

Time : 3 Hours _ , Max. Marks : 80

Instructions :1) Answer all Sections, subject to internal choice.
2) SectionD is compulsory.

SECTION—A |
Answer any ten of the following questions. Each carries2 marks. (10x2=20)
Define direct marketing and seifing. |
What is website ? Mention any two online business websites.
What do you mean by network topology ?
Mention any two charac_téristics of LAN.
List the attributes of table tag.
Write the syntax of image tag with examples.
Expand XML and SGML. |
What do you mean by a form control in VB.Net ?

© ®© N o 0k Wb

Distinguish between 7 and '\’ operators in VB.Net.

—
O

. What is the use of multi line property of text box control ?
. Define digital signature.

— —
N —

List any four types of payment cards.

" SECTION-B

Answerany three quesiions. Each question carries 5 marks. (3x5=15)
13. State the requirements of E-commerce. '
14. Define extranet. List the advantages of extranet.

- 15. Write HTML document to create your class time-table assuming four periods
per day.

16. Describe about use of Input Box and Msg Box in VB.Net.

17. What is EFT ? List the merits of EFT. - P.T.0.
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-  SECTION-C » -

Answer any two questions. Each carries 15 marks. . - (2x15=30)
- 18. Discuss the advantages and disadvantages of E-commerce.
19. Explain any 15 tags used in HTML with their syntax and example.
20. Describe security and legal issues of E-commerce. _

21, Write short notes on :
a) Operators in VB.Net.
b) For.. .Next Ioo'p_ in VB.Net.
) Mesh and Tree Topology.

SECTION-D |
Case study (compulsory) . . ’ ~ (1x15=15)

22. City Municipal Council has initiated 24/7 water supply to the consumers. And
planned to develop a computerized billing system. The following slabs are fixed
for the consumption of water.

Litres consumed : Rate per litres in Rs.
a) <=8000 litres 010
b} > 8000 and < = 15000 litres 0.15
c) > 15000 and < = 25000 litres 0.25
d) > 25000 litres | 0.32

Design a VB.Net program to read Consumer Id, Consumer Name, Meter No,
Previous reading, Present reading andCalculate the total bill.
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.V Semester B.Com. 3 Examination, Nov./Dec. 2017
ELEMENTS OF COSTING
Paper - | : (Regular) Repeater
Time : 3 Hours ‘ Max. Marks : 80

Instructions: 1) Attemptallthe Sections according to internal choices.
0508 SCINTEN SRVMesTdN €7D, DGR V080
2) Non-programmabile calculators may be used.
T~ YR TR LN 5 Ik, VTR NTLIT

SECTION-A

1. Answerany 10 of the following : A - {(10x2=20)
a) Whatis Cost Accounting ?
b) What do you mean by composite cost unit ?
c) What is indirect material cost ? Give two examples.
d) What is cost sheet ?
e) Whatis EOQ ?
f) What do you mean by labour hour rate ?
g) What do you mean by overhead cost ? .
h) Mention any two differences between LIFO and FIFO.
i) Write the formula to calculate the earnings under rowan plan
j) What do you mean by idle time ?
k) What is minimum stock level ?
[} What is secondary distribution summary ?

SECTION-B »
Answer any 8 of the following : E : (3x5=15)
2. Explain in brief the objectives of cost accounting. |

3. A medium scale industry produced 1000 units of a Commodity in the month of
September 2017. Its cost details are as follows :

Materials consumed ¥ 8,000
Productive wages 3 7,000
Direct expenses ¥ 1,000

Works on cost charged @ 50% of di,recAt wages administrative expenses ¥ 298. |
The proprietor expects 25% profit on selling price.

Prepare a cost sheet showing selling price and total profit. PTO.
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4. Compute the earnings of X and Y under Taylor’s differential piece rate system

5.

6.

from the following information -

Normal rate per hour T 12 o
Standard time per unit — 30 seconds
Differential rates tobe applied
80% of piece rate below standard
120% of piece rate above standard.

‘Worker's production per day of 8 hours is

X — 2800 units
Y - 4000 units.

Calculate machine hour rate from the following information :
Particulars Per hour - Particulars Per annum

Electric power 8.00 Repairs , 3 5,000

Steam 2.00 Rent . ‘ ¥ 2,000

Water 1.00 Depreciation - . 10,000
Running hours : 2000 hours

Compute EOQ and no. of orders to be placed from the following information

“Annual consumption of materials @ 25,000 kg

Cost per kg of raw material T5

Order processing cost per order ¥ 50
Storage cost 8% of average inventory.

SECTION-C

Answer any two.of the following: - (2x15=30)

7.
8.

Explain the advantages and disadvantages of cost accounting.

The particulars of receipts and issues of material “P” in a factory for the month
of January 2017 are as under : :

Jan. 1 Opening balance 3,000kg @ ¥ 10 per kg
"2 Issued 1,300 kg's on MR No. 15
"5 Purchased 800 kg's @ ¥ 12 per kg GR No. 9
"9 Issued 600 kg’s MR No. 21
" 10 Purchased 400 kg’'s @ T 15 perkg GR No. 13
"1 Issued¥600 kg's MR No. 27

" 12 Returned to stores 20 kg's issued on MR No. 15
" 13 Issued 900 kg's MR No. 32
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0.

" 16.  Purchased 1000 kg's @ X 13 per kg G.R. No. 17
" 16 - Stores audit note shows a shortage of 10 kg’s
" 18 Issued 800 kg’s on MR No. 37
“ 20 Returned to vendors 50 kg's from GR No. 17
25 Purchased 600 kg's @ ¥ 10 per kg vide GR No. 35
" 30 Issued 400 kg's on MR No. 42
From the above transactions prepare stores ledger account based on LIFO basis.

Find out the total earnings and effective wage rate from the following information :

" Standard Time Allowed = 60 units per day of 8 hours

Standard Time Rate = Rs. 10 per hour
Actual output on a day of 8 hours.

X = 50 units

Y = 60 units

Z = 50 units
Wage plan applicable :

X : Time rate plan

Y : Rowan plan

Z : Taylor's difterential piece rate.
Differential piece rate in practice. '
— 80% of piece rate below standard.
— 120% of piece rate above standard.

The following particulars relate to a company’s manufacturing operations :

Production Departments Service Departments
Department Overhead - Department "Overhead
A - 1980 X 680
B : 2020 Y 1500

The overhead charges of service departments are charged out on percentage
basis.

Particulars  Production Service .
Department ~ Department
| A B C | X Y

X 30% 30% 30% - -10%
Y ' 0% 30% °10% 20% -

Re-apportionment of service department overhead charges to production

department is 1o be done by using simultaneous equation method.
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| SECTION—D

Case study. (Compulsory question) : (1x15=15)

11. Bharat engineering company produced and sold 1 ,000 sewing machines in 2015.
The following are the particulars obtained from the records of the company.

T
Cost of raw materials 80,000
Directwages 1,20,000
Manufacturing expenses 50,000
Salaries 60,000
~ Selling expenses 30,000
Rent and insurance 10,000
General expenses 20,000
Sales 4,00,000

The plans to manufacture 1,200 sewing machines in 2016. You are required to

submit a statement. Showing the price at which machines would be sold so as

to. Show a profit of 10% on the selling price. The following additional information

is supplied to you. | |

1) The price of raw materials will increase by 20% on the level of previous year.

2) Wage rate will increase by 5%. - : -

3) Manufacturing expenses will rise in proportion to the combined cost of
materials and wages. : A

4) Selling expenses per unit will remain unchanged.

5) Other expenses will remain unaffected by the rise in output.

Questions : : :

1) Mention the reasons for increase in profits for the year 2016.

2) Mention the reasons for increase in expenditure for the year 2016 compared
to 2015.
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Reg. No.

Fifth Semester B.Com. 3 Examination, Nov.IDec. 2017
MANAGEMENT ACCOUNTING (Regular) |

Time : 3 Hours : | | ‘Max. Marks : 80

Instructions : 1) Attempt all the Sections according to internal choices.
| 2) Non-programmable calculators may be allowed.

SECTION-A

1. Answerany ten of the following : ‘ ‘ (1 0x2=20)
a) State any two objectives of Management Accounting. ‘

b) Write any two dlﬂerences between Management Accounting and Financial
Accounting.

c) Define financial analysis.

d) What do you mean by trend analysis ?
e) What is liquidity ratio ?

f) What do you mean by solvency ratio ?
a) Define fund flow statement. | |

h) State any four sources of fund.

i} How do you treat provision for taxation in the preparation of funds flow
statement ? '

1) What is ‘National Cash Flow' ?
k) What is cash from operations ?
I} What is acid test ratio ?

SECTION-B
Answer any three of the following : o {3x5=15)

2. Define Management Accounting. Brieﬂy explain the functiohs of Management
Accounting.

) .P.T.O. ’
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3. From the following data calculate trend percentages .taking 2014 as the base

year:
Particulars 31-12-2014 31122015 - 31-12-2016
Sales o . 60,000 80,000 1,00,000
Cost of sales 30,000 ( 50,000 60,000
Administrative expenses 10,000 15,000 20,000
Selling expenses 5,000 6000 8000
Other expenses 3,000 4,000 2,000
4, Ascertain creditors turnover ratio and debt'payment period from the following
information :
_ T
Total purchases 4,60,000
Cash purchases : 60,000
Opening balance of creditors ' : 40,000
Opening balance of bills payable 20,000
- Closing balance of creditors | A 80,000
Closing balance of bills payable A 60,000
5. From the following statement of Profit and Loss, calculate funds from operations :
Particulars | _ Note  Amount Total
1. Continuing operations : - _
a) Revenue from operations . 1 36,00,000
2. Otherincomes: 2 60,000 '36,60,000
Less : Expenses . '
a) Cost of materials consumed 3 18,00,000
b) Employee benefit cost ' 4. 3,00,000
¢) Depreciation 5 2,00,000
d) Otherexpenses 6 124000 24,24,000
Profit before tax : o 12,36,000
Less : Tax expenses 7 1,50,000

Profit : ‘ 10,86,000
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Notes to Accounts :

Note 1
Note 2

Note 3
Note 4
Note 5
Note 6

Note 7

Revenue from operations : Sales
Other incomes :

Profit on sale of machinery
Refund of tax

Dividend received

Other incomes

Cost of materials consumed
Employee benefit cost
Depreciation

Other expenses :

Rent paid

Commission paid
Provisions for contingency
Loss on sale of investment
Cost of shares written off
Goodwill written off

Other expenses

Tax expenses :
Provision for taxation

36521/E210

36,00,000

20,000
10,000
30,000
60,000
18,00,000
3,00,000
2,00,000

50,000
30,000
10,000
15,000

5,000
14,000
- 1,24,000

1,50,000

‘6. From the following statement of Profit and Loss, you are required to calculate
~ cash from operations

" Particulars

1. Continuing operations :

a) Revenue from operations

2. _Other incomes :

Less : Expenses
a) Cost of materials consumed

Note

2

3

Amount Total

2,00,000
16,000  2,16,000

1,50,000
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b} Employees benefitcost
¢) Depreciation
d) Other expenses
Profit before tax -
Tax expenses
Profit after tax |
Less : Appropriation : Proposed dividend
Profit
Notes to accounts :
Note 1 Revenue from operations :
Sales
Revenue from operations

Note2 Otherincomes:
Profit on sale of land
Income tax refund

Otherincomes
Note 3 Costof materials consumed

Cost of materials consumed

Note 4 Employees benefitcost :
Salaries '

Employees benefit cost

Note 5 Depreciation and amortization :
Depreciation on plant

Depreciation and amortization

Note 6 Other expenses:
Loss on sale of plant
Goodwill written off
Rent

Other expenses - |

Note7 Taxexpenses:
Provision for tax
Taxexpenses

on

SRS

- 10,000

4,000
12,000  1,76,000
40,000
10,000
30,000
10,000
20,000

+2,00,000
2,00,000

6,000
10,000
16,000

1,50,000

1,50,000

10,000
10,000

4,000
4,000

2,000
8,000
2,000

" 12,000

10,000
10,000
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SECTION-C
Answer any two of the following : (2x15=30)

7. The statement of assets and liabilities of Athani Ltd. are given for the year 2014
and 2015 convert them into common size statement of Assets and Liabilities :

Statements of Assets and Liabilities

Particulars Note 2014 2015
Amount Total Amount Total
I. Equity and Liabilities:
1) ‘Shareholders funds:
Share capital 1 36,700 47,750
Reserves and surplus 2 17,500 54,200 25,000 72,750
2) Current liabilities : _ ,
Short term borrowings 3 22,500 20,000
Trade payable 4 27,500 25,000
- Short-term provisions 5 7500 57,500 5,000 50,000
| | Total 1,11,700  1,22,750
il. Assets:
1) Non-current assets :
a) Fixed assets
Tangible assets 6 62,500 74,250
Intangible assets 7 6250 68,750 5,000 79,250
2) Current assets : |
Current investments 8 9,200 10,500
Inventories 9 17,500 14,250
Trade receivables 10 10,000 13,750
Cash and cash equivalents 11 6,250 42,950 5,000 43,500
Total 1,11,700 1,22,750
Notes to Account :
Note 1 Share capital : A
Equity capital 36,700 47,750
' Share capital 36,700 47,750
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Note 2 . Reserves and surplus : :
Capital reserves _ - 12,500 17,500
General reserves | | 5,000 7,500
- Reserves and surplus 17,500 25,000

Note 3 Long-term borrowings:
Bank overdraft ’ 22,500 20,000
' Long-term borrowings 22,500 20,000
Note 4 Trade payable: |

Creditors A 7,500 10,000
Bills payable | 20,000 15,000
_ Trade payable 27,500 25,000

Note5 Short-term provisions : . _
Provision for taxation 7,500 5,000
Short-term provisions 7,500 5,000

Note 6 Tangible assets:

Building 45,000 50,000
Plantand machinery 10,000 16,250
Fumiture 2,500 5,000
Freehold property | 5,000 3,000
" Tangible assets 62,500 74,250
Note 7 Intangible assets:
Goodwill - 6,250 5,000
Intangible assets 6,250 5,000
Note 8 Current Investments: ‘
Investments (Temporary) 9,200 10,500
Current investment 9,200 10,500

Note 9_ inventories :
Stock - 17,500 14,250
Inventories 17,500 14,250
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Note 10 Trade receivables :

Sundry debtors
Bills receivable

Trade receivables

Note 11 Cash and cash equivalents :

Cash

7,500
2,500
10,000

6,250

Cash and cash equivalents 6,250
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8750
5,000
13,750

5,000
5,000

8. Following is the statement of assets and liabilities of Shri. Mahant Ltd. Statement
of assets and liabilities as on 31-12-2015 : ' ’

.
- 1) Fixed assets:

Particulars

Equity and Liabilities :
1) Shareholders’ funds

a) Share capital
b) Reserves and surplus

2) Non-current liabilities :
L.ong-term borrowings

3) Current liabilities :
a) Short-term borrowings
b} Trade payables

Assets:

a) Tangible assets
b) Intangible assets

2) Current assets :
a) Current investments
b) Inventories _
c) Trade receivables
d) Cash and equivalents

Total

Total

Note

N

o]

10

11

J|

2015

Amount

4,50,000
1,30,000

50,000
1,50,000

5,00,000
40,000

70,000
1,00,000
1,60,000

30,000

Total

5,80,000

1,20,000

2,00,000
9,00,000

5,40,000

3,60,000
9,00,000
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Notes to Accounts :
Note1  Share capital
| Equity capital

7% Preference share capital

| Share capital

Note2 ‘Reservesand surplus:

Reserve fund

Profit and Loss Account

o Reserves and surplus

Note3 Long-term borrowings :

8% Debentures ,

_ Long-term borrowings

Note4  Short-term borrowings : |

Bank overdraft

Short-term borrowings

Note5 Trade payable:

Sundry creditors

Bills payable

Outstanding expenses =

_ Trade payable
Note 6 Tangible assets: -

Land and buildings

Machinery

Fumiture

- - Tangible assets
Note7 Intangible assets: T

Goodwill

‘ Intangible assets
Currentinvestment :

Marketable securities
Current investment

3,00,000
1,50,000
4,50,000

80,000
50,000
© 1,30,000

1,20,000
1,20,000

50,000
50,000

90,000
40,000
20,000

1,50,000

1,50,000
3,00,000

50,000
5,00,000

40,000
‘40,000

70,000
70,000
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Note9 Inventories:

Stock . . 1,00,000
_ Inventories 1,00,000
Note 10 Trade receivables : " -
Sundry debtors , 1,00,000
Bills receivable 60,000
- Trade receivables » 1,60,000
Note 11 Cash and equivalents ' - 30,000

~ Cash and equivalents 30,000
You are required to calculate the following ratios : ‘
1) Current ratio
2) Liquid ratio
3) Debt equity ratio
4) Capital gearing ratio
5) Proprietary ratio.
9. From the following statements of Assets and Liabilities of Arya Ltd. as on
31-12-2014 and 31-12-2015. You are required to prepare :
1) Schedule of changes in working capital
2) Funds flow statement
3) Show necessary working notes.

Particulars Note: 2014 2015
' ' Amount Total Amount Total

. Equity and Liabilities :

1. Sharehoiders’ funds : c _
a) Share capital 1 75,000 75,000
b) Reserves and surplus 2 25500 1,00,500 24,750 99,750

2. Current liabilities : » A
a) Trade payable 3 3,900 3,150
b) Shor-term provisions 4 . 12000 15800 13500 16,650

1,16,400 1,16,400
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Il. Assets:
1) Non-current assets

a) Fixed assets :

I. Tangible asséts 5 57,750 54,000
. Intangible assets 6 18,000 18,000
b) Non-cﬂrrent inventories : |
Long-terminventories 7 15000 90,750 16,500 88,500
2) Current assets : |
1) Inventories 8 15,000 _ 9,300
Il} Trade receivables 9 7200 9,600
I} Cash and equivalents 10 3450 25650 9,000 27,900
Total . 1,16,400 _ 1,16,400
Notes to Accounts :
2014 2015
Note1 Share capital: | | 75000 75,000
Share capital 75,000 75,000
Note2 Reserves and surplus :
Reserves 10500 13,500
Profit and Loss (Credit balance) 15000 11,250
Reserves and surplus 25,500 24,750
Note 3 Trade payable : | o
Creditors - 3000 2550
Bills payable 900 600
Trade payable 3900 3,150

Note4  Short-term provisibn :
Provisions for tax ' ‘ : 12,000 13,500
Short-term provision 12,000 13,500
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Note5 Tangible assets.

Building ' 30,000

Plant - 27,750

Tangible assets 57,750

Note6 Intangible assets: | - 18,000
Intangible assets 18,000

Note7 - Non-current investments: |
| Long-terminvestments - 15,000
Non-current investments 15,000
Note8 Inventories: | »
Stock - o 15,000
' | Inventories : 15,000

Note9 Trade receivables:

Debtors , 4 500
Less: PDD ' _ 300
' 4,200

Bills receivable : 3,000
Trade receivables 7,200

Note 10 Cash and cash equivalents :
Cash 3,450
Cash and cash equivalents 3,450

Additional Information :
1) Interim dividend of T 9,000 was paid during the year 2015.

2) Provision for taxation was made during the year 2015, ¥14,250.

| 3) Depreciation charged onplant wasZ 3,000 and on buildingX 3,000.
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27,000
27,000
54,000
18,000
18,000

16,500
16,500

9,300
9,300

5,250
430
4,800
4,800
9,600

9,000
9,000
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10. Following is the statement of Assets and Liabilities of Swati Ltd. as on
31-3-2014 and 2015 :

Particulars

|. Equity and Liabilities :

1.

Shareholders’ funds :
a) Share capital
b) Reserves and surplus

Non-current liabilities : -
Long-term borrowings
Current liabilities :
a) Trade payable

b) Short-term provisions:

“Total

li. Assets:

1.

Non-current Assets :

| a) Fixed assets

Tangible assets
Current assets :
a) Inventories
b) Trade receivables
c) Cash and equivalents

Total

Notes to Accounts :

Note 1

Share capital :
. Equity capital

Note

_ 2014 2015
Amount Total Amount Total

6,40,000 7,20,000
248,000 8,88,000 3,20,000 10,40,000

1,40,000 - 1,28,000

86,000 1,00,000
34,000 1,20,000 40,000 1,40,000

11,48,000 13,08,000

7,36,000 8,48,000

1,68,000 1,96,000
1,60,000 200,000
84000 4,12000 64,000 4,60,000

11,48,000 ~ 13,08,000

31-12-2014 31-12-2015

440000  5,00,000

10% Preference capital

2,00,000 2,20,000

Share capital 6,40,000 7,20,000
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Note 2

Note 3

Note 4

Note 5

Note 6

Note 7

Note 8

Note 9

Reserves and surplus :
Securities premium

Profit and Loss Account
| Reserves and surplus

Long-term borrowings :
6% debentures
Long-term borrowings
Trade payable : |
Creditors
Bills payable
Trade payable
Short-term provision :
Provision for tax
Dividend payable

Short-term provisions

Tangible assets :
Machinery
Building
Land
Tangible assets
Inventories :
Stock
Inventories
Trade receivables :
Debtors
Bills receivables
Trade receivables

Cash and cash equivalents

40,000
2,08,000
2,48,000

1,40,000

1,40,000

76,000
10,000
86,000

20,000
- 14,000

34,000

4,00,000
3,00,000

36,000
7,36,000

1,68,000
1,68,000

76,000

84,000

1,60,000

84,000

Cash and cash equivalents 84,000
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52,000
2,68,000
3,20,000

11,28,000

1,28,000

92,000
8,000
1,00,000

24,000
16,000
40,000

4,60,000
3,52,000

36,000
8,48,000

1,96,000

1,96,000

76,000

1,24,000

2,00,000

64,000
64,000

You are required to prepare Cash Flow Statement by indirect method as per AS-3.
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. Case Study - Compulsory question :

14

SECTION-D

(1x15=15)

11. The following are the statement of Assets and Liabilities of Sangeeta Lid. as on
- 31-12-2015and 2016 _

Particulars Note 2015 2016
Amount Total Amount Total
|. Equity and Liabilities : '
1. Shareholders’ funds :
a) Share capital 1 3,00,000 4,00,000
| b) Reservesandsurplus 2 70,000 3,70,000 1,18,000 5,18,000
2. Non-current liabilities :
Long-term borrowings 3 1,50,000 1,00,000
3. Current liabilities
a) Trade payables 4 75,000 99,000
b) Shortterm provisions 5 82,000 1,557,000 1,00,000 1,99,000
. Total 6,77,000 8,17,000
ll. Assets:
1. Non-current Assets :
a) Fixed assets :
l. Tangible assets 6 2,80,000 3,70,000 . |
Il. Intangible assets 7 1,15000 3,995,000 90,000 4,60,000
2. Current assets :
l. Investments 8 77,000 1,09,000
If. Trade receivables 9 1,80,000 2,30,000 .
lll. Cashandequivalents 10 25,000 2,82,000 18,000 3,57,000
Total o 6,77,000 8,17,000
Notes to Accounts : 2015 2016
Notet  Share capital: 3,00,000 4,00,000
_ Share capital 3,00,000 4,00,000
Note2 Reserves and Surplus:
General reserves - 40,000 70,000
Profit and Loss 30,000 48,000
- Reserves and Surplus 70,000 1,18,000
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Note3 Long-term borrowings
6% Debentures 1,50,000 1,00,000
Long-term borrowings 1,50,000 1,00,000
Note4 Trade payabie:
Sundry creditors 55000 83,000
Bills payable 20,000 16,000
, Trade payable 75,000 99,000
Note5 Short-term provisions :
Provision for taxation - 40,000 50,000
Proposed dividend - 42,000 50,000
Short-term provisions 82,000 1 ,00,000
Note6 Tangible assets: ’ : :
Machinery - 80,000 2,00,000
Building | . 200,000 1,70,000
_ Tangible assets 2,80,000 3,70,000
Note7 Intangible assets : |
| Goodwill 1,15,000 . 90,000
: ' Intangible assets 1,15,000 90,000
Note8 Investment: |
~ Investment 77,000 1,09,000
Investment 77,000 1,09,000
Note9 Trade receivables: '
Sundry debtors 1,60,000 2,00,000
Bills receivable 20,000 30,000
‘Trade receivables ' 1,80,000 2,30,000
Note 10 Cash and cash equivalents: o
‘ Cash _ ' A 25,000 18,000
Cash and cash equivalents 25,000 18,000
Prepare:

a) Comparative Balance Sheet.

b) Give your comments on the following :
i) Liquidity position of the company.

ii) Financial policy followed by the company.

iii) Overall financial position of the company.
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Reg. No.

V') Sémester B.Com. 2 Degree Examination, November/December 2017 |
FUNDAMENTALS OF MANAGEMENT ACCOUNTING
(Repeaters)

Time : 3 Hours ' ’ Max. Marks : 80

lnstruct:ons 1) Attempt the questions according to internal cho!ce
mm 0305 efaa'garm’ ga’n‘s’/f uFo20.
2) Non-programmable calcu!aror may be used.
T TR DI T CYAIT” LUTOIRCNTRITIR,

SECTION - A

1. Answer any ten of the following : - | (10x2=20)
a) What is Management Accounting ?
b) What are Financial Statements ?
c) Give the types of Financial Statements.
d) What do you mean by Accounting Ratios ?
e) From the following calculate Current Assets :
Current Ratio=2:0
Net working Capital = Rs. 4,80,000
Current Liabilities = Rs. 2,40,000
f) State any two external sources of funds.
g) Gross Profit Ratio = 30%, Gross Profit = Rs. 4,00,000.
Find out the amount of sales.
h) What is a Cash Flow statement ?
i) Give any two objectives of Funds Flow Statement.
i) What are non-current liabilities ?
k) State any two differences between Balance Sheet and Fund Flow Statement.
I} What are Funds from Operations ? ‘

SECTION - B |
Answer any three of the following : B ~ {(3x5=15)
2. Explain the advantages of Management Accountlng | '
3. Explain the various sources and application of cash.

P.T.O.
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4. Following is the Profit and Loss Account for the year ending 315 December,
2015. Prepare Vertical Income Statement.

_ - Adarsh Ltd.,
Profit and Loss A/c for the year ending 31-12-2015

Particulars (Rs.)
To Opening stock 40,000
To Purchases 3,20,000
To Wages 1,60,000
To Factory Exps. 80,000
To Administrative '
Expenses 40,000
To Selling Exps. 32,000
To Interest on '
Debentures 20,000
To Income Tax 28,000
To Net profit 80,000
8,00,000

5. From the following information of Sumit CompanyALimited, calculate :

i} Current Ratio

i) Liquid Ratio.

Particulars Amount (Rs.)
- Sundry Creditors 2,40,000

Bills payable 80,000

Debentures 4,00,000

Bank overdraft 1,60,000

Outstanding Expenses 80,000

6. From the following Profit and Loss

Particulars (Rs.) (Rs.) .
By Sales ; 7,44,000
Less Returns : 16,000 ~  7,28,000
By Closing stock . 48,000
By Interest and dividend 24,000
8,00,000
Particulars Amount (Rs.)
Cash in hand 80,000
Cash at Bank - 1,60,000
Sundry Debtors 3,20,000
Bills Receivable 80,000
Stock 2,40,000
Short term investment 1,60,000 -
Prepaid Expenses 40,000

A/c, calculate Funds from operations :

Profit and Loss A/c for the year ending 31-12-2015

Particulars Amount (Rs.)
To Expenses 5,60,000
To Depreciation on :
i} Machinery 2,40,000
ii) Furniture 1,60,000

To Goodwill written off 1,60,000
To Loss on sale of

Particulars

~ Amount (Rs.)
13,60,000
1,60,000

By Gross Profit
By Profif on sale of building

By Profit on sale of old Machinery 80,000
By Interest on investment 80,000
- By Dividend received 80,000

Machinery - 80,000 -
To Provision for Tax 1,60,000
To Proposed dividend 80,000
To Net Profit 3,20,000 -

17,60,000

17,60,000




| T 0 M O 3- '23521/E 210

SECTION - C _
Answer any two of the following ; (2x15=30)
7. Prepare'statement of sources and application of funds from the following

information. :
‘Balance Sheets as on 31-12-2013 and 2014 |
Particulars : ' 2013 (Rs.) 2014 (Rs.) -
Liabilities :
Creditors 70,000 65,000
Bills payable 20,000 15,000
Bank Overdraft 25,000 | -
Tax provision 37,500 32,500
Reserves . 40,000 40,000
Profit and Loss A/c 42,000 - 14,000
Share Capital 2,50,000 3,00,000
4,84,500 4,66,500
Assets : E
Cash in hand 25,000 - 35,000
Cash at bank 50,000 60,000
Debtors - 82,500 50,000
Prepaid expenses 2,000 1,500
Stock - 75,000 50,000
Fixed Assets 250,000  2,40,000
Goodwill . - 30,000
4,84,500 4,66,500

The following further information was available :
i) In 2014, a dividend of Rs. 42,000 was paid.

iy Assets of another Co., were purchased for Rs. 50,000 payable in 5,000 of
Rs. 10 each. The company included stock of Rs. 5,000, fixed assets
Rs. 15,000 and Goodwill Rs. 30,000.

. Following are the Balance Sheets of Anita Ltd.; as on 31-3-2014 and 2015,

Liabilities
Equity Share

Capital 2,40,000
Reserves 1,00,000
8% Debentures  1,00,000
Sundry Creditors 40,000
Bills payable 20,000

5,00,000

2014 (Rs.) 2015 (Rs.)

 3,20,000

1,40,000
1,00,000
50,000
30,000

6,40,000

Assets 2014 (Rs.) 2015 (Rs.)
Land and ‘ _

Building 2,60,000 3,10,000
Machinery - 80,000 1,00,000
Furniture 20,000 30,000

Stock 80,000 1,10,000
Debtors 40,000 60,000
Cash 20,000 30,000
5,00,000 6,40,000

Prepare Comparative Balance Sheet and comment on the Liquidity and Finangcial

position of the Company.
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9. The following are the Profit and Loss A/cs of Avani Lid., for the year ended
15t March 2013 and 2014.
Particulars 2013 (Rs.) 2014 (Rs.) Particulars 2013 (Rs.) 2014 (Rs.)
To Cost of goods

sold 545,000 581,000 By Sales  7,00,000 7,50,000
To Administrative 26,000 30,000 By interest ' _
Expenses received 3,000 10,000

To Selling expenses 20,000 30,000
To Interest on :

debentures 7,000 7,000 -
To Taxes paid 63,500 63,000
- To Net Profit 41,500 49,000
7,03,000 - 7,60,000 7,03,000 7,60,000
Prepare common size Income Statement and comment on the profitability of the
Company. - -

10. Write short notes on :
i) Trend Analysis
i) Non-fund items
iii) Working Capital. o
SECTION - D

Case - Study (Compdl'sbry QUestion) : ‘ (1x15=15) B

1. 'Following is the consolidated Profit and Loss account of Sampat Co., Ltd., for
the year ended 315t December, 2013 and 2014.
Particulars 2013 (Rs.) 2014 (Rs.) Particulars 2013 (Rs.) .2014(Rs.)

To Cost of goods | By Net Sales 8,00,000 10,00,000
Sold 6,00,000 7,50,000 By Non-operating

To Operating income 50,000 1,00,000
Expenses : '

i) Admin Exps. 30,000 40,000
i} Selling Exps. 40,000 50,000
To Non-operating

- Exp. 30,000 40,000
To Net Profit 1,50,000 2,20,000 o |
8,50,000 11,00,000 8,50,000 11,00,000

From the above, prepare a Common-size Income Statement. Answer the
following questions : _ - ~ '

a) Effect on Net Profit of the Company. Give reasons.

b) Comment on the profitability of the Company.

c) Comment on the operating efficiency of the Company.
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V Semester B.Com.3 Examination, November/December 2017
(Regular)
- INCOME TAX - |
Compulsory

Time : 3 Hours ) - | Max. Marks : 80

Instructions : 1) Answer all the questions with strict observations of inner
choice ineach section.

2) Use of calculators is allowed.
1) &o30F &S00 &4, 00 ET DGIITENT SVFOXO.
2) RoR)Teso” evTedpeny RSN 9

SECTION-A

1. Answerany ten of the following : : (10x2=20)
a} Who is an assessee ? '
b) What is Gross Total Income 7

¢) What is Agricultural Income ?
d) State the types of residential status of Individual. A
e) What is the previous year for the assessment year 2017 - 18 ?
f) Who is specified employee ?
g) What is perquisites ?

“h) What are the deductaons allowable u/s 24 in calculation of house property
income ?

‘i) How do you treat house used for SOP (Self Occupied Property) ?
j) What is speculation business ? '

k) How do you treat Bad debts recovered ?

I) What is previous year ?

SECTION-B

Answerany three questlons of the following : A {3x5=15)

2. Mr. Anand a foreign citizen comes to India for the first tlme on 20—4 2014. He
went fo Japan on 6-10-2016. While he was in Indla he stayed at a hotel in Bangalore
till his departure from India.

Determine his residential status for the assessment year 2017 — 18.
P.T.O.
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3. Mr. Anand empltge'd in a company received Rs. 5,40,000 gratuity covered under
the payment of Gratuity Act, 1972. He retired on 30-11-2015 after serving for
SF;S y1egr23 6%nd 4 months. At the time of retirement his monthly salary consisted of

s. 13,260.

Find out his exempted and taxable gratuity.

4. Mr. Basavaraj is an officer in the state of Bank of India at Belgaum, the population
of which is less than 10,00,000. The bank has taken a building on rent of
Rs. 2,000 per month and given to Mr. Basavaraj for his residence free of rent.
Mr. Basavaraj remuneration for the previous year 2016 — 17 is as follows :

Basic salary Rs. 10,000 per month
Deamess allowance ' Rs. 1,000 per month
Medical allowance : Rs. 1,000 per month
City compensatory allowance Rs. 200 per month

Children education allowance for two children Rs. 250 per month.
Compute the value of rent free accommodation for the assessment year 2017 — 18.

5. Mr. Anil is the owner of a house property consisting of two equal units. The
municipal value of the house is Rs. 18,000. He resides in unit 1 and unit 2 is
Iﬁt out at a monthly rent of Rs. 800. The following are the expenses relating to the

ouse :

Municipal taxes paid Rs. 1,200
Repairs to the house Rs. 3,000
‘Land revenue ' Rs. 200
Interest on foan taken for
construction of house Rs. 2,000

Interest on loan taken for son’s marriage  Rs. 4,000 ‘
Compute his income from house property for the assessment year 2017 — 18.

6. State with the reasons the admissibility or otherwise of the following in computing
the income from Business :- ‘ o
a) Embezzlement of cash by an employee
b) Reserve for doubtful debts
c) Asum of money spent for maintaining the reputation of business.
d) nggslty paid to customs authority in connection with importing of prohibited

e) Compensation paid to an employee for termination of his service in the interest
of business. . :

SECTION-C

Answerany two of the following : ' (2x15=30)

7. Mr.Chandrashekar an employee in a private concem furnishes the following
particulars of his income for the previous year 2016 - 17. ‘

a) Basic salary (after deduction of income tax Rs. 20,000 in thé year) .
Rs. 2,20,000. :

'b) Dearness allowance Rs. 60,000 (25% of this enters into retirenient benefit)
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¢) Bonus forthe year Rs. 20,000. | |
d) Education allowance Rs. 8,400 (for his two children).
. €} Entertainment allowance Rs. 12,000. .
f) His own contribution to recognised provident fund Rs. 40,000.
'g) His employers contribution to the above fund Rs. 40,000.
h) Interest credited to the above fund at the rate of 12% per annum Rs. 12,000.

i} He is provided with rent free accommodation owned by the employer in a city
having population of 12 lakh. ’

J) His employer also provided a sweeper and a domestic servant paying salary
of Rs. 300 per month and Rs. 250 per month respectively.

Compute his income from salary for the assessment year 2017 - 18.

8. Mr. David furnishes the following information of house property owned by him for
the previous year ending 31-03-2017. '

Particulars . House) Housell Houselll
1) Municipal value 16,000 30,000 38,000
2) Rentreceived = 28,000 42,000
3) Standard rent - - 26,000 40,000
4) Localtaxes " ' , 1,000 2,000 2,000
5) Interest on loan taken for

construction 6,000 5,000 4,000
6) Repairs 1,500 2,000 3,200
7) Landrevenue : 1,500 1,800 1,800
8) Nature of occupation Self . Letout Let out

' occupied

Compute his Income from house property taking into consideration that fhe House lli
remained vacant for 2 months and unrealised rent amounted to Rs. 2,500 in the
previous year. '

9. Mr. Shankar received Rs. 1,20,000 on his retirement on 31 -12- 2016 as gratuity
from his employer, with whom he was served as for 29 years and 10 months.
Compute the taxable amount of gratuity in each of the following cases separately,

if his salary during the calendar year is Rs. 6,300 per month which is due on
15t of every month : . ‘ -

a) He is a Government employee

b) He7i235 working in a factory (covered under the payment of Gratuity Act of
19 ' :

c) He is) working as an officer (not covered by the payment of gratuity Act of
- 1972) : :

10.  From the following profit and loss of a merchant and the information fumished
below, compute his Business income for the assessment year 2017 - 18.

‘Salary to staff 12,000 Gross profit - 1,75,000
Salary to proprietor 6,000 Intereston - - '
General expenses - 2,500 Debentures (gross) 6,200
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Rent 2,200 Interest on post office
Intereston loan 500 SB Alc : 1,800
Income tax 900 Dividendfrom
_ Co-operative Society - 2,000
Advertising - 400 - ) | -
Bad debts | - 300
Reserve for doubtful debts 600
Fire Insurance : 100
Car Expenses 3,000
Legal Expenses 400
Fumiture Purchased - 1,500
Life insurance Premium 4,500
~ Donation to approved institution 1,000
Wealth tax ' 600
PoojaExps. 250
Repairs to machinery - 350
Depreciation N 4,000
Net Profit 1,43,900
1,85,000 ) 1,85,000

The information available was as under :

a) General expenses include Rs. 500 being compensation paid to an employee
on termination of service in the interest of the business.

b) 1/3 of the car expenses were related to his private use.
c) Legal expenses paid were related to purchase of land.
d) Life Insurance premium was paid on a policy of Rs. 50,000 on his own life.

SECTION-D

Compulsory questlon I (1x15=15)

11. Mr. Sainath resident of Belgaum fumlshes the following particulars of his income
for the Assessment year 2017 ~18.

a) Income from agricultural land situated in Srilanka ~1,60,000
“b) Income from Business established in USAreceivedinIndia  1,25,000
¢) Dividend from domestic company 80,000
d) Income from business in Sritanka controlled from india
(1/4 received in India) 4,00,000

e) Income earned and also received in Japan from
bank fixed deposits there ‘ 1,650,000
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f) Income from house property in Bangladesh

deposited in a bank there 60,000
g) Pastuntaxed foreign income brought into india during :

the previous year - | 20,000
h) Salary receivedin India ' ' 30,000

Compute his gross total income for the assessment year 2017 — 18.
~ It he is resident, not ordinarily resident and non-resident.

Suggest the measures to be followed for reducing the taxable income in the case
of resident assessee. - : ,
INB 3
Pt B L)
FINIRYY, ewors BIE, ug0R0. | (10x2=20)
1. a) 3oR %w}d ORE 03RT ? )
b) 2833 (Gross) &3zo08 20BTesd?
C) LBLIBTT IO DOTBERI ?
d) SHANTOOD FTTAER) SO0,
e) 2017-1830% 00800 BRFE, et TREAF) 300.
f) B0 FOBT 0w cdndy ?
g) BBF RS 2oBBe?
h) R85* 24 8 Z50 DS woRroDd S0 AoLOPITIE o3ees BRI WRBELIeR> ?
i) 3,08 sABN VTBOSRER TR SOBR, e Ded T30 SO TR ?
i) e, 00 orddeRd ? -
k) 80> AOT L0STHNRTS 207}, OdeS Bed PYFIT, wiodedesd ?
1) 003 SHEFS[ordBed ? |

IONn -2
BNIINDE), Bewrs TR0, LUZ0%0. | ‘ (3x5=15)

2. 3¢ o aR TR wrodony, 1RO Bod 20-4-2014 domd> eTeRe
W3S, 023 e Bmc8 6-10-2016 Bomd &amR SPTT. 530 tRIEO,
2R Bpetdod, BordRdIY, BT o

30T VR TBTOX ARSI BOOBO e 201718 Bod 3920.

3. e esord 0y 2,03 BoERODE, Gurdpgh eNCET. Rt A3 Sesddr. 5,40,000 ARy
&ouded (Gratuity) B Mo, 23588 soody, 1972 O BRTIBHOBLIT. BWO
30-11-2015 Go A3 RR0OTBT . 96328 35 T 4 Sone Fess ROXTT. IR
KRR, B30 Sore Rot 8. 13,260 A3, B30 E0R QRIS TN 307 33 &02des

(Gratuity) ®¢9 &g INR0.
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' f) State the basic conditions to be satisfied byan ordlnarrly resident assessee.
mma’% QTR IO egpd RLITT Bwe wd@.)ﬁ%f&) SRROXO. :
g) State the provisions under Section 10 regarding treatment of eamed leave salary
@8 Tl d@daﬁﬁo DonedRoes 3’0033 .1 106@053 &)oi)abrfs;?d) ﬁuazs,oe
h) Define the term person. '
qu wtﬁdm QOESOIV el

i) State the treatment glven to legal and lllegal incomes. under Income Tax Act.

SR IR IR, TR mm)dﬁodsmméeﬁd@Wriﬁd?
S0,

. ) Statethe aggregate amount of deductions u/s 80C, 80 CCC and 80 CCD
32080 &, 80 224 R T 80 223 53 ob&mﬁ~&53&3&$w 9
k) Who can claim deductions u/s 80 U and how much ?
s’vo 80U eacbd, o3t e R, I3 TR ao’za"wowaado 9

) Expand ‘C. B. DT’and DGIT.
QNONO‘CBDT’Z‘;J& DGIT’

SECTION B
:.)z;mi—

Answer any three of the following : | ‘ . (3x5-_-'1-5) :
S@né@n’e@ OWWEA T AnTatelr) SoecE emgox:e '

2. Mr. Rahulis a non-government employee is gettmg a pensnon of Rs. 15 000 per

5 _
month. During the prevuous year he commuted 5 of his’ pensnon and received
Rs. 5,00,000. S I _
Calculate the exempted and taxable amount of commutation of pension_ if,

a) He received gratuity
b) He did not receive gratuity.

2% TrEbOR ReE Ao Sedd RN aozmqm 15,000 o3 Sedotomat

&0 ST Sa’rcﬁ@ 3D Sa’ 20830 = 836 Wﬁd&b &)8)&)050 SRR

dr. 5,00,000 & eﬁanma &ou3es mm m@&aoc&: BT ol RAZ DI
uscmgcsm dealmsébrﬁ umdmmawmmwm @gmaa
a) esaiab o A *’d@cﬂd

" b) emb oS daﬂ wddﬁm}amr{
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' 3. From the Particulars of two assessees for the previous year ending 31-3-2016
find outthe amounttaxable and exempted House Rent Allowance.

Particulars o - Name ofthe assessees
' | Mr. Arun - M. Avmash
. : _ . | Rs. . »» : _Rs._
. a) Basic salary for the year o 180,000 240000
b) Deamess allowance o , 120000 © 1,40,000
c)Bows 15,000 20,000
- d) Comm'issi'on on sale atfixed'percentage 25000 - - 30,000
'e)_ City compensatory allowance per month o 500 ’ 800
f) HRAreceived duringtheyear 72000 96,000
g) Actual rentpaid during the year 60,000 80,000
h) Place of service . Belgaum - Mumbai
Note : Mr. Avinash is the only assessee whose salary includes D.A. 60% enters
in to retirement benefits.

- 31-3- 20166 2esiewdE smab aiairde‘) ] sdmsd uﬁ 383, maoaﬁ@od
Ciens.ietxTat w:*’abd do@b &33038 mﬁm@ﬁ ad:e’ crbab aozsoaoaome

o=dne SR domsss b
' - | Cmedn . o eoms
o gs - da
a) SxFdRwoBET 180000 240,000
b) S=FdBg P, . 120000 140000
C) SRsmTE e | o 15000 20,000
d) dmmad oees zoam éeﬁmmd)wow demi 25000 © - 30,000
©) Tup wamdzﬁ Jdsorer o 500 . 800
f) Nouomci a‘a&rcﬁ@ mﬁwﬁ&émeﬁ 2;33es 72,000 96,000
g) RoroRAE BHFEO TRIAT a)md wer 60000 . 80,000

- -h) ﬁﬁmmnﬁ? | . fj#m& B dpozj

BRUWS: . 8OPITRT 3083 z;% sem 60 Be0r303 eﬁd weéa’a& wé amn
w@ﬁséfoe:arb@m | '
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4. Mr. Sharma is an employee in'_Maruth‘i Suzuki Ltd. He gives YOu the following
| partlculars for the previous year 201 5—1 6: -
a) Basic salary Rs. 36,000 p.m.
by Deamess allowance Rs. 14,600 p.m. (Rs. 7,000 enters into retirement benefit)
¢) He and co'mpany conttibutes 20% of salary to R.P. F |
d) Interest credited on accumulated balance of RPFis Rs 14,000 at 14%p.a. -
| e) Professional tax pald by Mr. Sharma Rs.-2,400 for the year

- Calculate Income from salary for the A.Y. 2016-17.

&0, BRNF 53K TS Roesdd DO0EXTRE). daidoahd) 201 5—166 e-.smocb B03eaF &3
@ddﬁeﬁ& B3 FNSoZ on e'beamd

a) d;.raej 333 dw. 36,000 ZBsoner
b) 03 133 G, 14,600 p.m. (£30E), . 7,000 A a?eéala’f mﬁmmm@c&;)
C) e530) TN FoTROI0 VeSIT éﬁ_?csa 20 Sn33 Creis 0, DG o3 oG, -
d) ReR3 DA PR, APOD FeZE S 14 (S ), T 14,000 23 25350 NS,
-€) Q0. Fanr BB 8 TRFT FG 301 . 2,400 TS SRR, |
2016-17 ¢ douB0s SRF 3 1k, Beas g T80, |

5. Mr. Vikas is an employee of Honda Co. Ltd. received Rs. 5,20,000 as leave
salary at the time of retirement on 315! Dec. 2015 after completihg 25 years of
service. On 15! Jan. 2015 his salary was Rs. 12,000 p.m. after adding the annual
increment. Leave entitiement as per agreement is 2 months for every year of
service. Leave taken while in service is 10 months. Calculate the exempted and
taxable leave salary forthe A.Y.2016-17.

@3owo* 31, 2015 3o Q0. QTR 0L BROTD ROIR0I dea 25 3R AeaSodosy,
~®~ bdm moa dw. 5,20,000 Teicdd dm TEOTR. 1- 1~2015C30€3:> E&)&tf-‘ﬁ _
z;l@od:ab 20T 3033 SoMen R 33D 12 000 BR.RTNS. Z«)o:baﬂaamrtﬁ Tgg
@mrﬁmotg X} d‘e:ftrd ReaSri 2 Sorid Tl eoen. EoNied *’eaSodaOd)mr{ 10 &orie?
3 BEOTRD. 2016~ 17d 30080 JRF TS, ejdd 30=08 TR #dir%émd odod .
68333 8 m&o A
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6. Mr. Akeel started the construction of the house at Bijapur on 1- 1-201 1. He took
-a loan from State Bank of Mysore on 1-7-2011 of Rs. 15,00,000 at the rate of -
12% per annum interest. The construction was completed on 30-6-2015. The
house is self-occupied and its municipal value is Rs. 20,00,000. He paid municipal
“taxes of Rs. 25,000 during the previous year 2015-16.

Compute the income from house property for the assessment year 201 6-17..

 1-1-2011 Bor 0. 386D ma@ddo o3, seoo B30 BRBT. ST |
1-7-2011 Sor> 15,00,000 B ¢ SR, 12% u@od:oe REET® W,05°0T Fo©
3RRRED. 'éeg,&ﬁ mrwﬁab 30—6—2015(30630 @q,«md 30 oeSoddd do@%
Be3RENRISTRT T3y BTS R?ﬁdf'o’fi ANOTRRT ds’ao gdn. 20, OO 000 ST da"ur
2015 166@‘) dra.25000 Wﬁﬁdm&md -

201 6~17 BB 3R 3, 8 ©ROW0T T emoi)dab c}s T80,

SECTION -C
| -8
Answer any two of the following : ‘ S S .. | (2x15=30)
s DTS, SOFORD : "
'7. Mr. Basavaraj Patil has the following inoomes during the previous fiiféar 2015-16:
a) Income from agriculture in Sri Lanka Rs. 80,000.

b) income from business in England but controlled from Ind:a but }:/3 reoelved
in India Rs. 50,000. ‘
c) Salary received in india for the semce rendered in America Rs. 1,00 000

d) Income eamed and received i in Europe and the amount was remltted to india
Rs. 30,000. |

e) Past untaxed foreign income brought 1n to India dunng prevuous year
Rs. 40,000. -

_ f) Intereston post office savmgs bank account Rs. 5,000.:

g) Profit from business established in Turkey but controlled from India Rs. 90 000 |
- of which Rs. 50,000 remitted to India.

h) Rent from house property let-out in France for Rs 80,000 half of which is
“ credlted to his account in Dharwad.. o ‘ -
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|) Dividend from domestic company Rs. 25,000.

1 Served in 2 months in Indian embassy sntuated in Iran and salary received -
there Rs. 60,000. |

"k) Business profits eamed in the past but remrtted tolIndiai in the previous year
-Rs. 20,000.

1) Intereston deposns w:th State Bank, Hublr Rs. 25, 000.
Compute the total Income for the A. Y. 2016-17ifheis

- @) Ordinarily resident”
b) Notordinarily resident
¢) Non-resident in India.

Q. WS EtieeRd 36 ST &)ddﬁ@ab wc;)ocb wai’r 2015~ 166 FENSo3
6@&3@8

‘a) deoom deefd@o& uﬁe»@ﬁddemo:bdra 80 000. | ,
b) @oﬁo&‘d@o&) %ﬁa&d@oc& woid ST 0 530 &)o‘bogea z;.odé@od ddodn%ci)
=0, ) apads:so A, @ORuHTS 8. 50,000,

C) eﬁxb‘@d@ Aeas ”@adﬁ" mdéd@ BEI A, eﬁbfocb de. 1 00 000

o) cdnese, resd s A,@0AS ST0b S 8 0g HRsH dmﬂ,owp |

g. 30,000.

e) %oh3 SO aﬁdrﬁeﬁ@ 33 asafmdd ocdes emododﬁo aoo(:)ai SO IRFTE,

@d:s’ﬁ B0z T, 40,000. o
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8. Mr.Umeshisan employee in a Private Company at Mumbai. He gives you the
following informations for the previous year ending 31st March 2016 :
‘a) Basic Salary Rs. 30,000 p.m.
~ b) Dearness Allowance Rs. 15,000 p.m. (50% of itenters into retlrement)
¢) City Compensatory Allowance Rs. 1,000 p.m. :
d) Entertainment Allowance Rs. 2,000 pm. ‘
e) House Rent Allowance Rs. 5,000p. m, bmheacmallypays rentof Rs.7 OOOp m.

f) He contributes 15% of his salaryto Flecogmsed Provident Fund. The oompany
contributes an equal amount.

g) Interest credited to the above fund Rs. 14,000 at 14% p.a.

h) The company provides him a big car (1.8 litres c.c.) for both offlce and

private use. All the expenses of the car including drivers salary are met by
“the Co.

i) He retired on 30™ Nov. 2014 aﬂer serving for 34 years and 8 months. He:

received Rs. 5,00,000 as gratusty He is covered by payment of Gratulty Act
1972.

: ]) He paid pfofess:onal tax of Rs. 200 p.m.

k) The employer engaged a sweeper, gardener anda watchman for Mr Umesh
and paid each of them Rs. 300 p.m. ‘

) During the year Mr. Umesh paid insurance premium on his lafe Rs. 10 000.
Compute hisi mcome from salary for the AY. 2016-17.
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9. .From the following particulars furmshed by Ashoka of Mysore, owner of two
"houses, compute his Total income for the A Y.2016-17:

Particulars "+ House-‘A’ H_duse-‘B’
'é) 'Municipalval_ue . | _— o 500000 - 6,00,000
b) Fairrentalvalve 300000  4,00,000
- ©) Standardrent , 100000 570000
d) Actual rent received . ‘ 1,50,000 = 3,50,000
e) Municipaltaxespaid =~ 10% of M.V. 10% 0f M.V.
f)-Dateofconstrudion : o : 1-1-2007 1-32014 o
g) Pre-construction total interest 90,000
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IRIENEIS e
h) Interest for previous year 2015-16
‘1) Repayment of housing loan during the

previous year 2015-16 -

23522/E 220~
30,000 70,000
60,000 50, 000

J) He contributes Rs. 35, 000 towards Flecogmsed Provndent Fund and pald -

Rs. 25,000 premlum on his own pohcy
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The Gross Total Income of Mr. Suresh forthe AY. 2016-17 is Rs. 12,00,000. He | |
submits the following information for the previous year 2015-16 ;

a) He contributes Rs. 50,000 to Recognised Provident Fund Account. -
b) He paid Rs. 10,000 as Life Insurance premium on the policy of Rs 40,000

-covering his life.

c) Amount paid for education of his children for hlghef educatlon

i) Sukesh—Rs. 25,000
ii) Santhosh — Rs. 35,000

(of which Rs. 15,000 as donation)




p

23522E220 o se MUENNHBEREE

d) Interest on fixed depos;ts of Rs. 15,000 for5 years in.SBL.

e) He paid Mediciaim premium of Rs. 20 000 by oheque and Rs. 5 000 in cash.
(med:cla:m policy covers the health of a senior cmzen)

f) He contributed to NPS of LIC Rs. 50,000.

. g) He spent Rs. 45,000 on medlcal treatment of hlS wldowed snster who |s E

- severely disabled and dependent on hlm
h} Donatlons to: :
. |) ane Ministers National Reltef Fund Rs. 40, 000
iiy Prime Ministers. Drought Relief Fund Rs. 25,000.
i) RajivGandhi Memorial Fund Rs. 15,000.
iv) Government for family planning Rs. 50,000.
v) Approved chaﬁtable institution Rs. '25 000.
Compute the total | mcome of Mr Suresh for the AY.2016- 17
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SECTION D
- B

Compulsory question : ' . - ~ (1x15=15)

3!53&33 @5

Shri. Prakash Provided the followmg mformatuon about his income from salary
forthe A. Y. 2016-17 .

a) Basic Salary : - | Rs. 3,75,000
b) D.A - 20% of basic salary (part of salary) - |

c) Bonus - A ' Rs. 22,500
d) City Compensatory Allowance p.a. - Rs. 3,600
e) Lunch Allowance per month - ‘Rs. 750

f) Reimbursement of medical
expenditure incurred on treatment of

wife in a private hospital - Rs. 33000

He has been the choice to select either the rent free house or the H.R.A, its
details are as follows :

a) Rentfree house at Mumbal (15% of salary) The FRV of this house owned by
~ employeris Rs. 54,000 p.a. A

b) House rent allowance at Rs. 6,750 p m. He can hire snmllar type of house at

Rs 3 750p m.
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Questions :

1) Suppose Mr. Prakash approaches you for the advise, what advise do you
give him regarding choosing HRA or Rent FreeHouse ?

2) Which option he should choose from taxation point of view ?
3} Convince him with proof for accepting the option you recommend.
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